
 

 
  

Mounting instructions 

HD-SPS013/SPS014 Version 10/22 1 

Scope of delivery 
 

- Headlamp mask NRS 

- Mounting set (retaining bracket + mask holder) 

 

Fixing material: 

- 2 x cheese head screw M6x35 + washer 

- 2 x pan-head screw M6x12 + washer 

- 2 x Spacer sleeve  

Mounting 
 

1. fasten the supplied retaining bracket with the cylinder head screws M6x35. The spacer sleeve between the 

original fastening and the retaining bracket is required for this. 

 

 

 

 

 

 

 

 

 

 

2. the mask holder remains screwed into the mask or is reattached in it after painting. 

 

 

 

 

 

 

 

 



 

 
  

Mounting instructions 

HD-SPS013/SPS014 Version 10/22 2 

 

3. The mask holder is now attached to the side with the M6x12 pan-head screws. These are 

screwed directly into the retaining bracket 

 

 

We recommend using a medium-strength screw lock (e.g. LOCTITE 243, blue) for all screws. 

 

 

 


